Penthouse in Paola



Reference No: 240221049-81

Paola, South



€195,000

Total Rooms: 5

Bathrooms: 2

Floor Area (m²): 88

Bedrooms: 2

Penthouse - For Sale - Paola

Paola - A fantastic opportunity to acquire a very well priced penthouse in a good, residential area of this lovely town! The layout of this great investment opportunity comprises an open plan kitchen, living and dining area having access to a sizable front terrace with a splash pool, a gym room which can very easily be converted into a single bedroom, a main bathroom and the main bedroom with en-suite facilities and access to a nicely sized back terrace! This penthouse is being offered in a shell form state and with its respective airspace included in the price! Certainly an opportunity not to overlook. Get in touch now for more information!

Features

✓ Lift

Terrace

Air Space

Space For Pool

Roof Terrace

Rooms

Kitchen/Living/Dining: 8.03 x 3.9 m (31.32 m2)

Single Bedroom: 3.75 x 2.57 m (9.64 m2)

✓ Bathroom : 2.57 x 1.28 m (3.29 m2)

✓ Double Bedroom : 3.88 x 2.6 m (10.09 m2)

✓ Bathroom Ensuite : 1.9 x 1.39 m (2.64 m2)

Open Space : 6.39 x 2.5 m (15.97 m2)

Open Space : 3.9 x 3.48 m (13.57 m2)

Hallway: 5.03 x 1.3 m (6.54 m2)

Gallery





Miguel Borg RE/MAX Excellence - Piazzetta

M: 79081998

E: miguelb@remax.com.mt

T: 21341341

RE/MAX Excellence - Piazzetta 114B,Tower Road, Sliema, Malta